

- (1) (a) 3
(b) 5
(c) 2
(d) 4

- (e) 6
(f) 6
(g) 1
(h) 1

(3)

148

- (2) (a) $\frac{\pi}{6}$
(b) $-\frac{\pi}{3}$
(c) 0
(d) $\frac{\pi}{4}$

(d) $\frac{\pi}{3}$

(e) $-\frac{\pi}{4}$

(f) $-\frac{\pi}{2}$

(h) $\frac{\pi}{3}$

(3) $\sin x = \frac{1}{2}$

$x_1 = \frac{\pi}{6}$

$x_2 = \frac{5\pi}{6}$

altern

$x \in \left\{ \frac{\pi}{6} + 2k\pi; k \in \mathbb{Z} \right\}$

$\cup \left\{ \frac{5\pi}{6} + 2k\pi; k \in \mathbb{Z} \right\}$

④

(a) $2 \arccos(\frac{x}{2} - 1)$

$H_f = [0, 2\pi]$

$D_f : -1 \leq \frac{x}{2} - 1 \leq 1$

$-1 \leq \frac{x}{2} - 1$

$0 \leq x$

$\frac{x}{2} - 1 \leq 1$

$x \leq 4$

$D_f = [0, 4]$

(b) $5 + 2 \arccos \sqrt{1-x^2}$

$H_f = [5, 5 + 2\pi]$

$D_f : -1 \leq \sqrt{1-x^2} \leq 1$
trivial

$\sqrt{1-x^2} \leq 1$

$1-x^2 \leq 1$

$0 \leq x^2$

$1-x^2 \geq 0$

$1 \geq x^2$

$x \in [-1, 1]$

(c) $y = \arctan \frac{1}{x}$

$D_f = \mathbb{R} \setminus \{0\}$

$H_f = (-\frac{\pi}{2}, \frac{\pi}{2}) \cup \{0\}$

(d) $\ln(\arctan(1-2x))$

$\arctan(1-2x) > 0$

$\arctan \downarrow$
 $1-2x > 0$
 $\frac{1}{2} > x$

$D_f = (-\infty, \frac{1}{2})$

$H_f : (-\infty, \frac{1}{2}) \xrightarrow{1-2x} (0, \infty) \xrightarrow{\arctan} (0, \frac{\pi}{2}) \xrightarrow{\ln} (-\infty, \ln \frac{\pi}{2})$
 $(-\infty, \ln \frac{\pi}{2})$

- , arctg (ln x)

$$D_f: x > 0$$

$$-1 \leq \ln x \leq 1$$

$$\frac{1}{e} \leq x \leq e$$

$$x \in \underline{[e^{-1}, e]}$$

$$H_f: \underline{[-\frac{\pi}{2}, \frac{\pi}{2}]}$$

$$(f) \text{ arctg } \frac{1}{\sqrt{1-\sqrt{x}}}$$

$$D_f: x \geq 0$$

$$1 - \sqrt{x} > 0$$

$$1 > \sqrt{x}$$

$$1 > x$$

$$x \in \underline{[0, 1)}$$

$H_f:$

$$\begin{aligned} & [0, 1) \xrightarrow{\sqrt{x}} [0, 1) \xrightarrow{1-y} (0, 1] \xrightarrow{\sqrt{z}} (0, 1] \\ & \xrightarrow{\frac{1}{u}} [1, \infty) \xrightarrow{\text{arctg}} \left[\frac{\pi}{4}, \frac{\pi}{2}\right) \end{aligned}$$

$$H_f = \underline{\left[\frac{\pi}{4}, \frac{\pi}{2}\right)}$$

(5)

$$(a) \quad y = 2 \arccos \left(\frac{x}{2} - 1 \right)$$

$$\frac{y}{2} = \arccos \left(\frac{x}{2} - 1 \right)$$

$$\cos \frac{y}{2} = \frac{x}{2} - 1$$

$$\underline{2 \left(\cos \frac{y}{2} + 1 \right) = x}$$

definiowa dobry pion

H_f z przedla wyjs

$$(b) \quad 5 + 2 \arccos \sqrt{1-x^2}$$

funkcja nawi prosta (moga ze to "x²") → nema' inverzi

$$(c) \quad y = \operatorname{arctg} \frac{1}{x}$$

$$\operatorname{tg} y = \frac{1}{x}$$

$$\underline{x = \operatorname{cotg} y}$$

$$(d) \quad y = \ln (\operatorname{arctg} (1-2x))$$

$$e^y = \operatorname{arctg} (1-2x)$$

$$\operatorname{tg} (e^y) = 1-2x$$

$$2x = 1 - \operatorname{tg} (e^y)$$

$$\underline{x = \frac{1}{2} (1 - \operatorname{tg} (e^y))}$$

$$(e) \quad y = \arcsin (\ln x)$$

$$\sin y = \ln x$$

$$\underline{e^{\sin y} = x}$$

$$(f) \quad y = \operatorname{arctg} \frac{1}{\sqrt{1-\sqrt{x}}}$$

$$\operatorname{tg} y = \frac{1}{\sqrt{1-\sqrt{x}}}$$

$$\sqrt{1-\sqrt{x}} = \operatorname{cotg} y$$

$$1-\sqrt{x} = \operatorname{cotg}^2 y$$

$$1 - \operatorname{cotg}^2 y = \sqrt{x}$$

$$\underline{(1 - \operatorname{cotg}^2 y)^2 = x}$$

$$(6)(a) \quad \operatorname{arctg} x = \arccos \frac{1}{x} \quad x > 0$$

hecht- $\operatorname{arctg} x = y, \quad y \in (0, \frac{\pi}{2})$

$\Leftrightarrow x = \operatorname{tg} y$

paralel

$$\frac{1}{x} = \operatorname{cotg} y$$

a $\arccos \frac{1}{x} = y \quad (= \operatorname{arctg} x)$

$$(b) \quad \arcsin x = \arccos \sqrt{1-x^2} \quad x \in [0, 1]$$

hecht-

$$\arcsin x = y$$

\Leftrightarrow

$$x = \sin y$$

$$y \in [0, \frac{\pi}{2}]$$

$$x = \sqrt{1 - \cos^2 y}$$

$$x^2 = 1 - \cos^2 y$$

$$\cos^2 y = 1 - x^2$$

$$\cos y = +\sqrt{1-x^2}$$

$$\arccos y = \arccos \sqrt{1-x^2}$$